Questions from Homework



Complex Numbers

Convert to Polar coordinates
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Find the radius r, using the Pythagorean relationship 7" = 4/ X + Vv

al 1V
Find the related angle, o, using « = tan 1[ |_| J
X

Find the angle, 8, by determining the quadrant in which the terminal arm
1s located and using the related angle.
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The polar coordinates are (¥, 6)

Convert to Rectangular coordinates

X =rcost
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De Moivre's Theorem
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1. Simplify the following expressions. Express solution in the form a + bi.
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3. Use polar coordinates and De Moivre’s Theorem to evaluate the

following expression:
(Express solution in the form a + bi)
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